N = 0l & AF & F Al A

0124 X/ 2 ot
OOl MAEE XR(SEHYLM/HLEL - OE)
YNBSS KR (S5l & 2
_ _ SIEN
SN EB -GS - MBAY - BES 0 & 24 e HRE2
&t 6,388,484 4,713,685 1,674,799
=2 3,075,400
3 100,000
| 240,000
= 155,200
= 2,817,884
Of MASE X (SHHYLL/HSE - O E) 6,329,110 4,671,005 1,658,105
= 3,075,400
3 100,000
| 240,000
= 155,200
= 2,758,510
AMNES X2 2,314,920 1,956,596 358,324
= 918,400
= 1,396,520
D58 M RREAFYNA(2D) 1,011,560 0 1,011,560
= 843,000
= 168,560
403 RHEISHH S X201 1,011,560 0 1,011,560
= 843,000
= 168,560
01 RXISHZEE 1,011,560 0 1,011,560
ONEE HHRFHLIY N 1,011,560
= 843,000
= 168,560
HDLMASTUE SDF(2D) 75,000 78,240 A3,240
= 25,000
= 50,000
403 RHXISHH SR =0 75,000 78,000 3,000
= 25,000
= 50,000
02 2125 0IChEHCHE AFet bl 75,000 78,000 23,000
OHDFMIANVE 2L 75,000
= 25,000
= 50,000
OZMEOIS ARE HEXR(2D) 50,400 12,000 38,400
=2 50,400
308 KHXISHHI SO & 50,400 12,000 38,400
= 50,400
01 RXSHBABES 50,400 2,000 38,400
ONEMENIS A2T HEX 50,400
=2 50,400
0120 BIMOIHAIY X & 686,460 1,182,000 A495,540
202 01t 6,460 4,000 2,460
01 =2Uloibl 6,460 4,000 2,460




SH: Y XIH D
HE: 00l MAMBE XS (SYHSSL/HYSL - O E
SRl OYMABE X (S92
5 o SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2
©012Ql DIMOIFAIAXIE =& 6,460
307 2120l H 20,000 20,000 0
01 222 20,000 20,000 0
OBLIY DX 20,000
308 X+XIEHHIS O & 660,000 1,158,000 498,000
01 RXSHBABEZ 660,000 1,158,000 498,000
OOYUBHAHIR AARAE X & 580,000
©01¢Q XS 0IRLH 80,000
OIS T BOHSH & HAIY 23} 466,960 346,120 120,840
202 01t 6,460 6,120 340
01 =Ujoit] 6,460 6,120 340
OOMFHIBNE X HAOSEAS =T 6,460
403 XX SIS XH2 O & 460,500 340,000 120,500
01 MXSAX=SE 460,500 340,000 120,500
OL2&9I HHIR 60,000
ORAALYI| ALK 86,000
CLIENTEISIIFEP (PiL:! 56,000
OO MO BT EY 22X 100,000
OFXILOIY JS2l AL 22,500
OASOHUZD AL 36,000
020258 25 MR 100,000
HELMHSX LSS X2 24,540 20,736 3,804
308 X+XIEHHIS O & 24,540 19,536 5,004
01 RXSHBABES 24,540 19,536 5,004
OMYLMTSK HSX 2 24,540
48 ofess 983,240 768,769 214,471
= 242,000
| 240,000
= 155,200
= 346,040
H+SOIBARE X8 (21) 241,500 236,500 5,000
= 230,000
= 11,500
403 XX GRS XH2 0/ 241,500 236,500 5,000
= 230,000
= 11,500
01 MXSAX=LSE 241,500 236,500 5,000
OLH401 QIBARIE X4 241,500
=2 230,000
= 11,500
AIZ HACCP &S X (21) 2,000 0 12,000
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B ool MAES A (SYWSEM/HSS - 0E)
el U8 oEsd (98
S FB SR (E) - NRAY - Be S 0} & o Soe RS2

= 12,000

308 NHXISHHMSOIE 12,000 0 12,000
= 12,000

01 XML EXS 12,000 0 12,000
OLAE HACCP Zi&E XA 12,000
= 12,000

SHAIE SZMA(=2) 240,000 0 240,000
Il 240,000

403 A XIEHSXH=01H 240,000 0 240,000
Il 240,000

01 MXIEMAZ2E X 240,000 0 240,000
OSAIEH EIHd 240,000
Il 240,000

HAUHXHE= 194,000 210,000 A 16,000
= 155,200
= 38,800

403 X HMEAH=01H 194,000 210,000 A 16,000
=2 155,200
< 38,800

01 TXISHMAZE = 194,000 210,000 216,000
oduxIng=s 194,000
= 155,200
= 38,800

W8 ASOIE A= 295,740 289,158 6,582

202 O4dl 5,690 4,158 1,532

01 SUWHYI 5,690 4,158 1,532
OU=8 AsIIgt 2= =4 5,690

308 AXIEHHSOIA 54,000 30,000 24,000

01 XM EXS 54,000 30,000 24,000
OU=8 2HE ArzHl XA 54,000

403 XXM SA201H 236,050 255,000 A 18,950

01 XHXISHHIR2E = 236,050 255,000 ~18,950
O O HE MEXAMH X 9,000
O - DA AHI AI- 2,550
o0 - o7 22 A& 7,500
OSENS XY= 190,000
OE=020& Aot e 27,000

HANE W& & HAURESH 572,500 184,490 388,010
= 400,000
= 172,500

=0 dFA=A HE(=21) 480,000 0 480,000
= 400,000




A XA

HE: gl MASS X (sHNL=a/olSE=4 - HE)
S GHAWHE I L UHAnEsE™” (&2 &)
] _ PIEL=
2AH -3 - SH2A(SH) - MEAMY - BHES Ol &F2H bﬂ/l\_w” Hns
= 80,000
403 XXISHHSK=201H 480,000 0 480,000
= 400,000
= 80,000
01 MXESMA2EXR 480,000 0 480,000
O2=o 43 SXAE AHE 480,000
= 400,000
= 80,000
MEAINHE HAMOIAHE LAHBHl K& 31,000 97,190 A66,190
202 O4H| 1,000 7,190 6,190
01 2LH0HI 1,000 7,190 AB,190
OCHAOIHE AKX 1,000
308 XAXIHMSOIN 30,000 0 30,000
01 HXSHMBAEES 30,000 0 30,000
OMEIHA A0 dHBHl XA 30,000
e nag 36,500 0 36,500
201 Et29H| 2,500 0 2,500
01 AtR22ldl 2,000 0 2,000
ONSAI HMH XS (AL S) 2,000
02 =323l 500 0 500
OnNExA B&8s 500
202 04 d| 2,000 0 2,000
01 2LH0 bl 2,000 0 2,000
otfAun=gs" F& 2,000
301 LeEtEAZ 31,000 0 31,000
08 2el==0H| 1,000 0 1,000
onsxa =3 1,000
10 AR HIEAS 30,000 0 30,000
OHEXNEX A% 30,000
310 =220/H 1,000 0 1,000
02 =23 1,000 0 1,000
OnNF R MIA 1,000
=0l A=A 2HHIX 25,000 40,800 A 15,800
202 O4H| 1,000 800 200
01 2LH0 bl 1,000 800 200
O=oldA=A 2HEH 1,000
308 XAXHMSOIN 24,000 40,000 A 16,000
01 XIXSHHBIAEXS 24,000 40,000 A 16,000
OA=Zoda=A 29 XA 24,000




A XA

H2: 00l MAMHE KB (SYHYSL/HS 24 - OfE)
SRl THHOIY L OREN HE (el &
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot Hws2
THoHOr & OfQIR A H = 2,458,450 1,761,150 697,300
= 1,515,000
z 100,000
= 843,450
OYXIY REZEIBEH XA (22) 1,757,400 1,038,000 719,400
= 1,515,000
= 242,400
403 RHXISHH SR =0 1,757,400 1,038,000 719,400
= 1,515,000
= 242,400
01 RXSHAZDE 1,757,400 1,038,000 719,400
O K22l BSH N 1,757,400
2 1,515,000
= 242,400
ABOIEQIZII MR (D) 120,000 131,500 A11,500
z 100,000
= 20,000
403 RHXISHHSXH20IH 120,000 130,000 £10,000
z 100,000
= 20,000
01 MXSHAZDE 120,000 130,000 A10,000
OABOH Q1| &X| 120,000
z 100,000
= 20,000
TH o 0l 2 X & 173,000 182,150 A9,150
202 01t 5,000 2,150 2,850
01 =2Uoib] 5,000 2,150 2,850
OB KA X7 5,000
308 KHXICHHI SO & 168,000 180,000 A12,000
01 RXCSHZLRES 168,000 180,000 £12,000
OoME WHZA PEHE X2 68,000
O0d KB B2 N 100,000
VEEPIEH 19, 150 6,000 13, 150
202 01t 9,150 6,000 3,150
01 2Uioibl 9,150 6,000 3,150
ONHYTNEY =X 9,150
403 XXISH SR 201 10,000 0 10,000
01 KXISHAXZEE 10,000 0 10,000
o4 202 S&FY| 10,000
OAXEH el 380,900 394,500 A13,600
201 L2y 200,000 207,500 AT7,500
01 Attt 2,000 8,700 26,700
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ONYAXNEH 2 2,000

02 T2 198,000 198,800 800
ONYXZH 29 198,000

202 OfH| 34,500 34,500 0

01 ZLHoiHI 34,500 34,500 0
ONYNETH SSHH 34,500

401 Al&HIL20HH] 140,000 150,000 10,000

01 Al&H 140,000 150,000 10,000
ONYNEH HI|xp 140,000

405 KHAHE S| 6.400 2,500 3,900

01 RALSES S| 6.400 2,500 3,900
OGN EH ALRA XD (Ma, OXt) 6.400

dicrolelol QN UL Aze 2e 8,000 9,000 A1,000

202 OfH| 2,000 3,000 A 1,000

01 =ZLHoiHI 2,000 3,000 A1,000
OOl IRIS L M =X 2,000

307 2I2+0| & 6.000 6,000 0

02 QIZHAARX 6.000 6,000 0
owftoiel SN L ABE e 6,000

A 2AAH (0L KD (IIEHIIEH) 59,374 42,680 16,694

EEL 59,374 42,680 16,694

Ned Jl2a| 59,374 42,680 16,694

201 LAl 30,862 20,000 10,862

01 At 22l 30,700 19,838 10,862
OBANR2Y A2l 30,700

02 Zz2Y| 162 162 0
ORAN2Y T2 162

202 OfH| 28,512 22,680 5,832

01 ZLHOiHI 28,512 22,680 5,832
ORAN2Y 2U 0| 28,512




